B4
¥ R(RFHE ) RO U
D SR prE R ERRERI Y R TERFERE o R

R R ERIL R € 10T E% 2% € RES (§4)

émw

@)

g pyet 3 RLH g 107 # 4 ZB
B p£%F 1070402018 57 54 2 5 -
et

PRIZS B £ RIPEE 5 20 vi*&w*ﬁ“’ °

= ARG TR HRTI FR (F- PR REET S
LR Gt 5, 2 @“T\@?J%i;Lzai
'?%%@éﬁ@ééﬁﬁi AR R T £ 424

=~ 23 T%%ﬁﬂiﬁﬁiaﬂ :

(1) 106# 17 19pFE=2%# ¢
(2) 106 # 5% 22 p = g3 ¢ o
(3) 107T# 27 5P 2R gR~¢FARILERAFLIFF -

(4) 107 # 4% 2 p ¥ 5+ TRFEL 1 F -
(5) 107 # 4% 16 p > 3 =2 R oy 4 %3 107
EDP T pwmER L HUH AN mMAEE R A o

(6) 1074 57 10 p PRIZIRE & W -

o

S i #ﬂ;ﬂﬂ?%%iiﬁwﬁﬁﬁ’zgi
ggw’“gﬁﬂgw—ﬁ’ﬂwﬁxlw’ >HER A
&;61 4% 5 b & A TG B A DITT.9T T o s | &

% o f ) 82.65%) ’f'PE'bAQJd'meréf—*LFL )
a‘ft’j‘ﬂ‘,%?ﬁ/ 3L R € itwmits

SRR AT UL A fi$§WP%%’ﬁk%@
e FPEL - £






